90000

B0O000

70000

BO000

50000

40000

30000

20000

10000

Run 4444 quartetwise, Asyms0 (Raw): All

quartetwize_asymi
[ - Enlries 22439
[ Mean 442
= Sid Dev  1.897e+05
—I' 1 1 1 |,|_| 1 1 1 | 11 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 | 11 1 1 }‘;1 ﬂﬁ
-10 0 10 20 30 40 50 60

0

jHelNSamples0)/(PosHelAccO/PosHelNSamplesl + MegHelAccO/NegHelNSamples0 - -0.095854)

25000

20000

15000

10000

5000

0

Run 4444 quartetwise, Asyms0 (Raw): Beam ON, Laser ON

guamstwisa baami las! asymi

27218
—324.7
7.7 16e+04

Enlries
Mean
Sid Daw

||||:!l{'|l‘.'j|::1I

1
s

000 4000

—2000

0

I
20

00

I
40

00

I
60

00

1
BOOO 10000

jHelNSamples0)/(PosHelAccl/PosHelNSamplesl + NegHelAccO/NegHelNSamplesD - -0.095854)

Run 4444 quartetwise, Asyms0 (Raw): Beam OFF

quarebwise_bsamd asyrb

E 5 Enlries BROS

[ Mean §190

EE:EI-D: Sid Dev  5.935a+05
7000 —
6000 [—
5000 —
4000 —
3000 —
2000 —
1000 —

l|::|:IIIIIIIIIIII|IIII|IIII|IIII|IIII.'-"5;-“:}ﬁ

0 10 20 30 40 50 60

jHelNSamples0)/(PosHelAccO/PosHelNSamplesl « NegHelAccO/NegHelNSamples0 - -0.095854)

Run 4444 quartetwise, Asyms0 (Raw): Beam ON, Laser OFF

auamstwiza baami la=® asymi

[ _ Enfries 27149
— Mean —-174.8
25000 — Sid Dev  7.702e+04
20000 —
15000 —
10000 |—
5000 [—
I AT A R N N N N T N N TN N N NN T N N NN TN NN M NN O % ﬂg
—EGIU'D —4000 —2000 0 2000 40040 6000 8000 10000

iHelNSamples0)/(PosHelAcc/PosHelNSamplesl + MegHelAccl/NegHelNSamples0 - -0.095854)




2500

2000

1500

1000

500

00

600

500

400

300

200

100

Run 4444 quartetwise, Difts0: All

guartetwise diff0

é_llII|IIII|IIII|IIII|IIII|

Entlries 92439
Mean ~0.0001073
Sid Dev 0.04406
L | |
015

PosHelAccO/PosHelNSamplesD - NegHelAccO/NegHelNSampleso

Run 4444 quartetwise, Diffs0: Beam ON, Laser ON

quanebwise_beaml_las? ot

Enfries 27218
Mear -4 11e-05
Std Dew 0.04409

é}_llllllllllllllllllllIIII|IIII|IIII|III

ol =

015

PosHelAccO/PosHelNSamples( - NegHelAccO/NegHelNSampleso

220
200
180
160
140
120
100
B0
60
40
20

00

600

500

400

300

200

100

Run 4444 quartetwise, Diffs0: Beam OFF

quartetwiss_k=am0_difio

Enlries BROS
Mean 000045935

Sid Dev 0.04:404

= =l |

0.1
PosHelAccO/PosHelNSamples) - NegHelAccO/NegHelNSampleso

Run 4444 quartetwise, Diffs0: Beam ON, Laser OFF

quanebwise_beami_last diif

o
Ln

Enlries 271449
Mean —4_ 817a-05
Sid Daw 004369
| 1
015

PosHelAccO/PosHelNSamples) - NegHelAccO/NegHelNSamplesD




4000

3500

3000

2500

2000

1500

1000

500

1000

800

600

400

200

Run 4444 quartetwise, NegHelAccO/NSamples: All

quartetwize_negHQ
— Entries 92439
— Mean —0.0364
— Std Dev 0.1051
; | | 1 | |

0.4 0.2 0 0.2 0.4
MNegHelAccD/NegHelNSampleso
Run 4444 quartetwise, NegHelAccO/NSamples0: Beam ON, Laser ON

guanstwisa baami las! nagHD
B Enfries 27218
| Mean -0.04791
B Std Dev  0.09879
_I Ll NN NN AN N N N N

0.4 0.3 0.2 —.1 0 0.1 0.2 0.3 0.4

MNegHelAccl/NegHelNSamplesd

350

300

250

200

150

100

50

1200

1000

800

600

400

200

Run 4444 quartetwise, NegHelAcc0/NSamplesQ: Beam OFF

guarebwise_bsamd negkll

[ Entries 8505
B Mean ~0.0BBS1
— Std Dev  0.08733
_I 11 | & L1 1 1 | | I . | I | I | | | I I | | L1 1 = 1 1 |

0.4 .3 0.2 0.1 0 0.1 0.2 0.3

MNegHelAccO/NegHelNSamplesO

Run 4444 quartetwise, NegHslAccl/NSamples0: Beam ON, Laser OFF

quanstwisa baami_lasld nagHD

[ Entries 27149
| Mean 003198
— Std Dew 009977
Ll tlv v b v v e b vv v bvv v brv g Pl

0.5 0.4 0.3 0.2 0.1 0 0.1 0.2 0.3 0.4

MNegHelAccO/MNegHelNSamplesD




4000

3500

3000

2500

2000

1500

1000

500

1000

B0

600

400

200

Run 4444 quartetwise, PosHelAccO/NSamplesC: All

_ guartetwise posHO
— Enfries 92439
— Mean =0.03651
[ atd Dev 0.1048
[ 1 ] ] ] | 1

-0.4 -0.2 0 0.2 0.4

PosHelAccO/PosHelNSamplesD

Run 4444 quartetwise, PosHelAccO/NSamplesd: Beam ON, Laser ON

uanctwisa baam las! posHo
B Entries 27218
B Mean ~0.04795
[ StdDey  0.09834
_I Pl I N T N T I O OO O B A O B A B Lo 111
0.4 0.3 0.2 0.1 0 0.1 0.2 0.3 0.4

PosHelAccO/PosHelNSamplasD

350

300

250

200

150

100

50

1200

1000

800

600

400

200

Run 4444 quartetwise, PosHelAccO/NSamples0: Beam OFF

guarelwise_bsarnl pashd

B

8505
-0.06631
0.08687

Enirigs
Mean
Sid Dev

4 -0.3

0.2

-0.1

0

0.1

0.2

0.3

PosHelAccO/PosHelN Sam'ples{:

Run 4444 quartetwise, PosHelAccO/NSamplest: Beam ON, Laser OFF

cuanchwisa koami lasd poso
__ Eniries 27149
| Mean 003203
B Std Dew 0.09945
I e NN T e e RN Ll oL
0.5 0.4 0.3 0.2 N O 0.1 0.2 0.3 0.4

PosHelAccO/PosHelNSamplesD



3500

3000

2500

2000

1500

1000

500

1000

8O0

600

400

200

Run 4444 quartetwise, Sums0: All

quartetwize_summbD
[ Entries 92439
[ Mean -0.07249
— Std Dev 0.2053
_I | I - I | 1 1 1 I 11 1 | 1 1 1 | 1 1 1 I 1 1 1 | 1 1 Ll | 1 1
—1 -0.8 0.6 -0.4 -0.2 0 0.2 0.4 0.6 0.8

PosHelAccO/PosHelNSamples? + NegHelAccl/NegHelNSampleso

Run 4444 quartetwise, Sums0: Beam ON, Laser ON

cuanchwisa koami las! swmmi

B Enfries 27218

- Mear -0 08585

B Std Dew 0.1921
_I L1 [ L L L1 I L |
0.8 .6 0.4 0.2 O 0.2 0.4 0.6 0.8

PosHelAccO/PosHelNSamples? + NegHelAccl/NegHelNSamplesO

350

300

250

200

150

100

50

1000

800

600

400

200

Run 4444 quartetwise, Sums0: Beam OFF

quartebwise beaml surmmd

— Entries 8505
| Mean -0.1331
~ Std Dev  0.1685
1 J. (= 1 1 1 | L1 1 I L 1 1 I 1 | 1 1 1 1 |

08 06 0.4 0.2 0 0.2 0.4 0.6

' PosHelAccl/PosHelNSamples0 + MNegHelAccO/MegHelNSamples(

Run 4444 gquartetwise, Sums(: Beam ON, Laser OFF

guamstwiza boami lasl summd

| Entries 27149
- Mean ~0.064
— Std Dew 0.1944
|_ | 1 1 I R [ T N N T N [N N N N N NN B A1

-1 0.8 0.6 0.4 0.2 0 0.2 0.4 0.6

PosHelAccO/PosHelNSamples? + NegHelAccl/NegHelNSamples0




